Special Forces Review II

1.  Fill in the following blanks

	Weight (lbs)
	Weight(N)
	Mass (kg)

	
	
	35

	200
	
	

	60
	
	

	
	400
	

	
	
	100


2.  

[image: image1.png]m=1000 kg m=1000 kg
a=_____ m/s/s m/sis
Fot=— N Fot=— N





As the angle increases, the acceleration ___________________.  As the angle increases, the 
Normal Force  ________________________.

3.   A parachute is rigged so that a parachutist of total mass 116 kg with full gear 

reaches the ground at a terminal speed of 4.9m/s 
. Assuming that the drag force on the parachutist, has a magnitude equal to bv^2, what is the value of b?
4.  If you pull upward at a 45 degree angle on a crate, what component of your pull will act to accelerate the crate forward?  What component will reduce the friction between the crate and the floor? 
5.  Draw a block on the ground.  Now, draw the same block on a ramp.  Draw the free body diagram for each object.  Tell me what forces change from moving the block from the ground to the ramp and why.

6.  A wooden pallet carrying a load of 600 kg rests on a wooden floor. Coefficient of static friction is .28 while coefficient of kinetic friction is .17.  

a. A forklift driver decides to push it without lifting it. What force must be applied to just get the pallet moving?

b. After a bit of time, the pallet begins to slide. How fast is the pallet moving after 2.0 seconds of sliding under the same force you calculated in part a?

c. If the forklift stops pushing, how far does the pallet slide before coming to a stop?

7.  Determine the following quantities for a car driving on a level surface with a coefficient of static friction of 0.75 (¾) and a coefficient of kinetic friction of 0.67 (⅔).

a. Determine the car's maximum starting acceleration with and without "burning rubber". How do these two methods of starting a car compare?

b. Determine the car's minimum braking distance with normal brakes and antilock brakes with an initial speed of 30m/s. How do these two methods of stopping a car compare?

